Answers to Tutorial 4

Tutorial 4 
Signed Numbers and Shifting Data 

	1.
	An unsigned number can be zero or positive only. A signed number can take negative, zero or positive values.

	2.
	The instruction SSBX SXM turns on sign-extension mode.

	3.
	The instruction RSBX SXM turns off sign-extension mode.

	4.
	The instruction SFTL means shift accumulator logically.

	5.
	The instruction SFTL 1, A shifts the accumulator one place to the left.

	6.
	The instruction SFTL -1, A shifts the accumulator one place to the right.

	7.
	To shift the contents of accumulator B two places to the right we write: 

SFTL -2, B.

	8.
	To shift the high word of accumulator A into the low word of accumulator A we use the instruction SFTL -16, A.

	9.
	Sign-extension mode does not affect the instruction SFTL (shift accumulator logically).

	10.
	When sign-extension mode is turned on, when the instruction SFTA is executed, the value of the sign bit (the most significant or left-most bit) is maintained. When signed extension mode is turned off a simple shift is produced.

	11.
	The logical shift SFTL is used for general purpose shift while the arithmetic shift SFLA must be used with signed numbers.  

	12.
	When the instruction LD is used with a shift, the constant is shifted then loaded into the accumulator. 

	13.
	The default shift for the instruction LD is zero. Therefore the instructions LD #5555h, A and LD #5555h, 0, A are equivalent.

	14.
	To shift the value 7777h into the high word of accumulator B we use the instruction LD #7777h, 16, B. 

	15.
	To load the low word of an accumulator with a constant there are two instructions we can use: LD #5555h, A or XOR #5555h, A.

	16.
	To load accumulator B with the constant FEDC9876h we write:

LD #0FEDCh, 16, B ; Load high word of accumulator B.
OR #9876h, B ; Load low word only.
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